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JERRH R X 1 146, 822, 595
HEELT = 1 97, 099, 198
HRHEI T = 1 10,692 | #EH! 30 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
BEARRE AT = 1 41,646,100 | B&A (42 R+ 580 m3
2. 5mAT ;
EuNE R 2,000 m3
4. 0mPL E
R Zp s 1, 000 m3
FefiJKULER A+ ;
R Zp s 1, 000 m3
REK M
BRE LT = 1 55,206, 830 | BEIERE 1 2,400 m3
4. 0mPL E
R Zp s 950 m3
FefiJKULER A+ ;
R Zp s 1, 200 m3
BE A
We L BG A4 (42imm) 3% 9, 140 m2
FAHER VATV R AREAT t=3. Omm 300g/m2 ;
Rkt A = 1 200, 173 | {EmEFETE (B 150) 470 m2
T i S O I BRI
P v T = 1 35,403 | F&Hh 30 m3
A2 A couE
b 30 m3
0 Cadl- EHIRY £5T) ;
IR = 1 144, 760
fliAE T = 1 144, 760 | FE-7-HAh 470 m2
AEBME U 250m28L F500m2AT ;
EEE T 2 1 28,931, 764
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HEL 1 2V
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
B2 A couE
T FTHERE T (&4 BT 275,040 | 5= CHERE 4 m3
Im% 8 X 2mAii 18-8-40 (B JF) ;
7" Vv A MAERE T = 27,526,000 |7 ViyAMgERE 258 m
1. Om%& 48 2.2. OmLLF
i bifavy)-p 16 m3
24-12-25(20) (G&JF) ;
AN =b L 2 1, 906, 750
7 VR AN = T 2 1,906, 750 | 7" VEyAME vIA 29 m
PIliE 0.6m PN 0.6m ;
HEKHEEY T = 9, 784, 895
e+ T 2 635,959 |FEHR D 1 X
+4)
HEL 1 2V
T wb AT 1 =X
0 CaBl- EHIRY £5Te) ;
e 1 =
B2 A couE |
AR T = 7,418,146 |7 VA NUBLATE 200 m
300X 300 ;
7" Vv A NUBRMAITE: 39 m
450 X 450 ;
7" Vv A NUBRMAITE: 23 m
(AR
300X 300 ;
7" Vv A NURMATE 272 m
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300/ (4EKE) ;

ik 28 e
(TR - H28)
300 UEKE)
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ET = 1 365, 600 | #kff17)-bEAHE 20 m
(HEE)
3007 ;

AR T 2 1 1,365, 190 | BUGFT B KM 3 (£
BUGFT#F 18-8-25 (FiJF) &m0 VEZEAH 1E % (500
X 500 X 600) ;

BGHT K 2 (£
BUGHTAT 18-8-25 (BrdF) LI ESEAH 1E 1% (800
X 800X 1000) ;

BGHT K 1 (£
BUGHTAE 18-8-40 (BrdF) LI ESEAH 1E % (800
X 800X 2300) :

BGHT K 1 (£
BUGHTAE 18-8-40 (BrdF) LI ESEAH 1E % (800
X 800X 2900) :

£ 3 #
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500X 500/ T-2 A ;

£ 2 ¥
" Vv=F/77)
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800X 800H T-2 #HE ;
= 2 r5e
U v=F77)
800X 800/ T-25 W H 4K VHETE ;
EEEY 14 1
619 W=300 ;
H AT B MR T = 1 128, 839
s B T = 1 128,839 | BLEGFIEE: 5 m2
18-8-40 (B JF) FAI79v47/40~0 ;
s ALER T = 1 3,223, 900
I AALVERESE T 2 1 3,223,900 |IGAafE 1 X
HEE L = 1 4,253, 369
SR L = 1 403,970 | B (0" =1 V) 1 A
HEYHE L T = 1 1,617,434 |a2v))-MEEWmEUE L 105 m3
A EY) BhkE T
ERZE IR 1 2V
TAT 7 MEEERR 15emPL T
EhAE AR AR 950 m2
TAT7VMERZE IR BfEERRE 4 c m
EhAE AR AR 1,880 m2
TA77 VMRS BEERE 10cm
TR AL T = 1 2,231,965 |7XiEH 105 m3
av ) -bik (BER5)
o 1 226 m3
TAT 7V
By 105 m3
av ) -bik (BER5)
By 188 m3
TAT7vh % (i)
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RISy 38 m3
TAT 7 bk (HRIB)
L5y 6 t
ALTH3 ;
A 7 1 1, 349, 120
KT 7 1 26,480 |WFIRPEKE 2 m
(FEHE)
¢ 500 MELL W
AEEHE T Y 1 1,322,640 |AZ1FHEZHEE 1 =
[ERAE Xy = 1 146, 822, 595
B R = 1 20, 379, 000
BISTIGE: = 1 1, 578, 000
HeffrE sy = 1 246,000 | HUELFHA 2 1 =
Fefa JK Tk 8 & By 1 F2
BGRESGESE (5 L) = 1 1, 332, 000
B (FEHL) = 1 18, 801, 000
T = 1 167, 201, 595
Bl gy 2 1 61, 606, 000
T =5l = 1 228, 807, 595
— R A 2 1 35, 132, 405
TS 2 1 263, 940, 000
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